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Least namber of penes sty preseot on which huamasn cheormersmes 7
(h) Y -sheomenimmn

(8) X-chiomosnne
(4) 12%beormersene

(c) V*chromosome

The maost abundant type WECs in the blood are
(h) Nestrophils

(a) FEosinophils
(d) Lympheryies

(c) Basophls

3 Prmary lymphod organs are

(a) Spleen and Thymus (b) Bone macrow aod Thysmes

(c) Bone marrow and Tonsils (d) Splecn and Torniis

4. A veryeffective sedative and painkiller drug is
(a) Barbiturate (b) Amphetamine
(c) Morphine (d) Benzodiazepine

5. Which one of the following diseases is now extisct 7
(a; TB (b) Mezsles
() Small pox (d) Polio

6 Theduct of Submandular gland is known as
(z) Rivinus duct (b) Stensen’s duct
(c) Whartons’s duct (d) Wirsung's duct

7. The membrane that provides the ability 1o distinguish between different pitches of sound is i
(2) Round window (b) Reissner’s membrane
(c) Basilar membrane (d) Tectonal membrane

8. The recognition of “self” a5 “non-seif’ can result mto the development of -
(2) muscular body (b) auto-immune disorders ’
(c) genetic anomalies (d) HIV infection

9. Which one of the following is used as secondary host by Fasciola hepatica in order to comp

lifz cycle ?
(a) Anophelessp. (b) Muscadomestica
(c) Lymneasp. (d) Inchogastersp.
10. Seasitization of rhesus negative mother by rhesus positive fetal cells is prevented by which
following vaccines ?
(a) Anti-A (b) Anti-B
(c) Anti-D (d) Anti-O0
11, The term metagenesis is related to :

(a) Asewwal reproduction (b) Alternat:on of gercration in obelia

{c) Sexuval reproduction in Paramoecium  (d) Polymorphism in obelia
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16.

17.

18.

19.

2).

The organs of balance in the human body are located in

(a) External Ear (h) Middle Ear

(c) Inner Ear (d) Futtachian tube
The hormone progesterone is tecreted by

(2) Mature Graffian follicle (b) Testes

(¢) Corpus luteum ~(d) Antenor lobe of pituitary
Inhibiting an enzyme action by blocking its active site, is called as

(a) Allosteric inhibition (b) Non competitive inhbition

(¢) Feed Back inhibition (d) Competitive inhibition

Which of the following is the hypoglycaemic hormone

(a) Glucagon (b) Insulin
(c) Cortisol | (d) Adrenaline
Which is the incorrect pair of contrasting traits studied by Mendel in Pea
(a) Stem Height - Tall / Dwarf (b) Flower colour - Violet / White
(c) Podcolour - Green/ Yellow (d) Sced colour - Violet / White
Five kingdom classification was proposed by
(a) Whittaker (b) Linnacus
(¢) Mendel (d) Haceckel
Which of the following secretions does not contain an enzyme?
f2)  Saliva (b) Intestinal Juice
(c) Pancreatic Juice ' (d) Bile

Removal of the thymus gland in new born mice severely afTects the maturation of

(a) B-lymphocytes (b) Thyroid cells
(c) T-lymphocytes (d) Testosterone secreting cells

Which one of the following is not a protozoan disease?

(a) Malaria a (b) Amoebiasis
(c) Candidiasis || (d) Sleeping sickness
. NOTEEMYFOOT.COM
Deficiency of copper causes WA O TES m/YfO AT cOM
(a) Heart rot of bect (b) Reclamation discase
(c) Internal cork disease (d) Whiptail disease

For the synthesis of one mol of glucose in Ca plants . number of ATPs required is :

(a) 12 by 15§
(c) 18 (d) 30

The Oz released during photosynthesis comes alter splitting water was demonstrated by Ruben and

Kamen while using :

(a) Spirogyra - (b) Chlorella
(¢) Volvox || ) (d) Ulothnx
NOTEEMYFOOT.COM
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25.

27

28.

29.
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33.

Electron transport system, tic process in which electrons are tramsferre] from oo carrier %

takes place in which part of the ceil
(2) Inner plastidial membrane () Outer plastidial membrane
(c) Inmer mitochondrial membrane (d) Outer mitochondrial membrane
Which of the following activates RUBP enzyme ?
(a) Copper (L) Phosghorus
() Zinc (d) Magresium
Kreb's cycle takes place in
(2) Vesicles of endoplasmic reticulum (b) Mitochondrial matrix
(¢) Lysosomes (d) Inner mitochondrial membrane
Al seedling stage of orchids, fungal hyphae provides nourishments by forming cells called
(a) arbuscules (b) gant cells
(c) pelotons (d) haustoria
Region of Biosphere Reserves where no human activity is allowed .is known 2s
(a) Transition zone (b) Core zone
(c) Buffer zone (d) Restoration zone

When the population density reaches the carrying capacity. a plot of N in relation to fim= 2 r==
(a) Exponeatial curve ib) Geometric growth

(c) Tobemad v ea

FIND Gt
4 Jiupreas LUy \&) iR Lurvc

Increase in the concentration of pollutants in higher trophic levels is known as

(2) Biomagnification (b) Biodegradatic:
(c) Eutrophication (d) Recycling
Blood cholestrol lowering agents “Statins™ are produced by :
(2) Pasteunapenetrans (b) Monascuspurpurens
(c¢) Trchodermaviridae (d) Agrobacteriumrhizogens
Which of the following represents a test cross ?
(a) TexTT (b) Tt
(c) TT=u (d) TexTe
Multiple root caps are found in-
(a) Zeamays (b) Rhizophora sp.
(c) Paudanus sp. (d) Eicusbenghalensis

Which one of the following equations shows correct _|d_ationshig between 2ross |
productivity (GPP), net primary productivity (NPP) and respiration (R)

(a) GPP-R=NPP . (b) R-NPP=GPP
(c) R+GPP=NPP | (d) GPP+NPP=R
NOTEEMYFOOT.COM
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35. The phenotypic dihybrid ratio of F, generation is

(a) 9:7 (b) 3:1

(¢) 9:3:4 (d) 9:3:3:)
36. Which aglae inhabits the deepest waters of the sea 7

(a) ;mwn algae (b) Blue-green algae

(c) Red algae (d) Green algae r
37. ‘Mycorrhiza'is: . |

(a) Root-like underground stem (b) Root-fungus association

(c) Algal-fungal association (d) Parasitic root

38. Which is an exception of Mecndel's law of heredity ?

_. *’]
_ ‘ (a) law of independent assortment (b) law of dominance
;' (c) law of purity of gametes (d) linkage
i 4 39. Which of the following does not agree with Watson and Crick model of DNA ?
1 (a) Two chains are antiparallel (b) Purines pair with pyrimidines
} (c) Keto-base pairs with amino-base (d) G pairs with C by 2 hydrogen bonds
L 40. A green algae that has a possible role in evolution of land plants is :
3" (a) Vaucheria (b) Oscillatoria
P (c) Qedogonium (d) Eritschiella
J 41. What is the maximum value of the force F such that the block shown in the arrangement does not
K move ? (g = 10 m/s)
| ‘!%‘1 F ' . m = v'i- k'al _ l ’ ~
c 60N % :H——Z\'_
. J W/
; () 20N (b) 10N
§ (© 12N (d 15N
'; 42, If the error in the measurement of radius of a sphere is 2%, the crror in the determination of the
| F volume of the sphere will be
B ) 4% ®) 6%
; © 8% e
q 43, When a gas filled in a vessel (closed) is heated through 1°C, its pressure increased by 0.4%. woe
is the initial temperature of the gas? :
. (@) 150K " (b) 250K
3 © 75K 4 213K .
4 . .
, 44, The ratio of amplitudes of two simple harmonic motions represented by the equations
g sinZ(12¢ +1) and y, = sin3nt + V3cos3nt is
1 .
‘ @ 1:1 a (b) 1:2
© 1:4 (d 1:V3
MYEQQ']-.COM * 4 PTO
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45.

46.

47.

48

50.

A body initially at rest, undergoes one dimenti 10N wi
. . o, entional motion with eo ;
delivered to it at time t is proportional to oA Rocuterstion. The

() (b)
(c) t; (d) !
An elec..omagnetic wave of wavelength A is incident on a photosensitive sefacs of

work function. If the photoelectrons emitted from this surface have the de-Nroofie wavs
then the wavelength A will be equal to ' ‘

@ A (b) (’—F)Af
(c) H:ﬁ (d) ;!‘t

An electric field E = (207 = 10j) N/C exists in the space. If the electric potential at the
taken to be zero then the potential at (Sm, 2m) will be

(a) +80V (b) -80V

(c) +70V (d) -0V

The pressure inside the two soap bubbles is 1.01 and 1.02 atmosphere. The ratio of their re
volume is -

(a) 161 (b) 81

(c) 41 @ 21

If the electric potential V is given as a function of distance x (in meters) by the
V = (5x* + 10x —4) volt, then the value of electric field at x = Im is

(b) -23V/m
(d) 6V/m

variation of potential difference across a combination of three i
t The emf and intemal resistance of e2ch cell are

() -20V/m
() 11V/m

The given graph shows

cells in series versus curren
|
) OTEEMYFOOT.COM
_Td v W . nOTESMYFO0T.cOM
p. . .

(’ ‘f L L) Ll l '\
i (current) —>

(a) 2V 29 (b) 02 v,020

(c) 2V,20Q (d) 1V, 1Q
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51. Ratio of

(a) (Kg)”
© (Ke)?

52.
is the energy of the gas due to its thermal motion ?

(a) 7x10") (b 3-10')

(c) S~10'] (dy 6%10")
53, P-Vdiagram of 4 g of Neon gas for A=B process is shown. What is the heat giver. to the yas ?

P
'”— \:'. B

(a) 6PoVo (b) 4PoVo

() 2PuVe (d) 3PaVe
54 Inthe given figure, which of the diodes are forward biased:

T-.S\;

O]

(i N

(a) (i) and (i)
(c) (i), (i) & (iv)

, ull
“‘§

the radii of two planets is ‘K* and the ratio of acceleration due to gravity of both the
plancts is ‘g’. Whatis the ratio of their escape velocities 7
(b) (Ky)~ "

(d) (K~

2

One kg of a diatomic gas is at a pressure of 8 x 10" Nim ’. The ¢:nsity of the gas is 4 kgm ' What,

+10V
(ii)
+OV R

=10V

(b) (i) and (iii)
@ (ii) and (iv)
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57.
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| 2
r | 1 L O HEEES
electronic charge. electric perm

2
The dimensions of T,’:’;’EE _where e, € . D and c are the
y of light in vacuum respec

Planck s constant and velocit
(b) [ML'T]

@ [MLT]
(¢) [MLT] (d) [M'L'T]

lively, are

If the earth were 10 suddenly contract 10 half its present radius (wit

on it), by how much would the day be decreased.
(a) 6 hour (b) 18 hour
(c) 2 hour (d) 10 hour
nd -0.5A is passed througt

rent switching rapidly between +0.5A a

A square wave cur
eter will be

ammeter. The reading of the amm

(a) 0254 (hy 054
(c) 0.25VZA (d) 05V2A
The value of the current i so that the magnetic field at point ‘P’ is zero, i
1 3A i P
P D . —
. &4
JTEEMYFOOT.COM 9
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{a) 1A by 2 A
() JA (d) 1A
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60. Theresistance between P and R in the circuit given below is

61.

65

65.

i

I M)

0
.f‘rj -‘0 -
M0 § 30
A g
S e R ’
RI®)
(a) 8Q (b)) 2Q
) 4Q (d) 3Q
Two interfering waves have intensity ratio of 25 : 4. The ratio of maximum to minimum intensity is
25 25
@ T2 (b +
© = - @ 2
9 2

When 2380 undergoes fission, 0.1% of its original mass is changed into energy If 1 kg of 33U
under-goes fission, the enerzy released will be

(a) 9«10" (b) 9x10'% )

(c) 9x10'' ) (d) 9x10")

A pendulum bob has a speed 3 m/s while passing through its lowest position. If the length of the
pendulum is 0.5m and 2 = 10 nv/s? then its spend when it makes an angle of 60° with the vertical

will be :

(a) 1m/s (b) 2m/s
() 3m/s (d) 4nvs
For a given material, the Young's modulus is 2.4 times that of modulus of rigidity, its Poisscn ratiois .
(a) 2.4 ® 12
(c) 04 (d) 02

Yellow light of wave length 589.0 nm is incident on a boundary separating air and glass. The

refractive index of glass for yellow light = 1.3. The wave length of retracted light is

(a) 392.7x10"m (b) 392.7x IO‘":m
() 196.3%10"'"m (d) 1963 %10"m

iati i ireclions in v is being
A 40 W monochromatic point source -adiating equally in all dirsctions in vacuum is being

monitored at a distance of 4m. The amplitude of electric field at the detector will be

(@) 29 () V375

(c) V452 (d) V55 .
The interior light of a car is switched off only when all doors are closed. It is an example of

(a) AND g;le (b) NOR gate

(c) NOT gate (d) NAND gate

PTO
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68. T'he correct curve between potential (V) and dist

ance (d) near p - n junction is
v

T ..
@ 2 7, b — LNy,

69. Ifa carrier wave is represented as D cos (ot+0) then in case of amplitude modulated wave
(a) Dis varied with © and 0 kept constant  (b) D and  are varied and 6 is kept const
(¢) Dand 0 are vanied and o is kept constant  (d) © and O are varied and D is kept const

70. Assume that an electric field E = 30 x?1 exists in space. Then, the potential difference ¥
where V, is the potential at the origin and V. is the potential at x = 2 m, is given by.

(a) 120J (b) -120)
{c) -80)J (d) 801
71 Which of the following substance has ferromagnetic property:
. (@ O (b) MnO
(c) Cr0: (d) NaCl
72 What is molar conductivity of an 0.02 M solution of acctic acid at 25°C (Given Ka = 1.8x1
' T nante) ot :

0 - 0
Ap(C: juouH) = 7V |
(a) 11.7 ohm™' cm? mol™ (b) 117 chm™*cm? mol"‘

(c) 11.7%10*ohm 'cm? mol™! (&) 1172107 ohm™ cm* mol’’

73. A pure substance exists in three phases such as solid(s), liquid (/) and vapour (v). The varu
2.

chemical potential (i) with temperaturc (T) is given by the plot
T
T
’ (b) s\__1_/"
@ : )
I ~ i—
|V —

(c) n v
— | —>
P TESMYFOOT.COM
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74.

75.

76

77.

78.

79.

80.

81.

Which of the following statements is wrong?

(a) Evaporation isa spontanecous process

(c) Vapour pressure decreases with
increase in temperature

(b)  Evaporation is a surface phenomenon
(d) The vapour pressure of a solution is always
le-3 than vapour pressure of a pure solvent

reaction A+ 4B =Cis Now, the equilibrium constant K for the
(a) 1572 (b) 0.786

Calculation of activation energy, E, from Arrhenius equation : k = A exp (- E,

. A / RT) involves t
following assumption . ) e

(a) kincreases with increasing T (b) k decreases with increasing T
(c) E.decreases with increasing T (d) Eadoes not change with temperature

Among the below statements which of the following are true for a catalyst

1) Catalyst can change AG®.r of a reaction
(i) Catalyst can change the equilibrium condition
(m)  Catalysi cannot change AG®.r of a reaction
(iv)  Catalyst cannot change the equilibrium condition
(a) (1) and (i) (b) (i) and (iv)
(c) (i) and (iv) (d) (i) and (iv)
Two solutions of glucose have osmotic pressures 1.5 atm and 2.5 alm respectively. If 1 iitr of first
solution is mixed with 2 litre of second solution, the osmotic pressure of the resultant solution will be
(a) 1.62atm (b) 6.12 atm
(c) 2.16atm (d) l.Zoatm

If a saturated solution prepared by dissolving Ag:CO; in water has [Ag'] = 1.20x10~ M. What is

the value of K« for Ag2CO1?
(a) 864x10" (b) 8.64 x 107"
(c) 7.20= 10" (d) 144 x10%
2 | | h
In case of gaseous homogeneous reaction, the active mass of the reactant is obtained by the
o
expression
PV (b) P
(@) o s
14
(c) 5PI (d) =

lent central metal?
(b) [Pl(NHa)xCIzl
(d) K.\[Fc(CN)(.]

Which of the following complex has zero va
(a) [Cu(NH1)4] SO4
(c) [Ni(CON]

; llowing?
Which has the smallest radius of the ion amongst the fo g

. (b) Be’
(a) IJQ 11l (d) F
() O || : P.T.O.
OTEEMYFOOT.COM 10
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83.

34,

85.

86.

87.

88.

89.

91.

Which one of the following oxoanions is known as household bleaching agent ?

(a) CIO (b) ClO;
(c) CIOs (d) ClO«
The outer elcc’ronic configuration of Gd (Atomic number: 64) is:
(2) 4f’sd s (b) af'sd’ 65’
(c) 4f’sd'6s (d) af*s5d" 65’
Mercury is a liquid metal because
(a) it has a completely filled s-orbital (b) it has a completely filled d-orbital tha
prevents d-d overlapping of orbitals
(c) it has a large atomic size (d) it has a completely filled d-orbital tha

causes d-d overlapping

The correct order of second ionization potential of C, N, O and F is
(a) C>N>0>F (b) O>N>F>C
() O>F>N>C (d) F>O>N>C

The metallic luster exhibited by Na is explained by the following
(a) Diffusion of Na” tons (b) Excitation of free protons
(c) Existence of body centered cubic lattice (d) Oscillation of lcose electrons

Which one of the following species is capable of functioning both as a Bronsted acid ¢

-~ .o ~
DIVIIdICU vade:

@ COy (b) HS
(c) Br d s”
How many P-OH bond(s) are there in hyPophosphmous acid (HsPO»)
(a) | (b) 2
(c) 3 d) 0

The linkage 1somer of the complex [Cr(HzO)!NOzCh] is
(a) [Cr(H:0) ChNO2] (b) [Cr(HzO)JONOCl:] |
(c) [Cr(H:0n(NO2)s] (d) [Cr(H0) Cla(NO2)2) H20

[odoform can be prepared fro

0
7——OH
(a) )k/ (b)
0
© >——\ (d)

OH

m all of the following except :
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93.

94.

95.

96.
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98.

0

What is the correct IUPAC name of the compound N\)k
(a) c!s—z-heplen—(:—one (b) trans-2-hepten—6-one
(c) cis-5-hepten-2-onc ‘d) trans-S5-hepten-2-one
Which of the following is known as biocatalyst?
(a) Fat (by Qil
(c) Enzyme (d) Vitamins
The compound that i3 most reactive towards an electirophile i5°
(a) Benzene (b) Toluene
(c) Benzoic acid (d) Aniline
Gabricl phthalimide synthesis is used for the preparation of
(a) Tertiary amine (b) Primary amine
(c) Sccondary amine (d) Quaternary ammonium salt

Triethylaluminium and titanium chloride is known as
(b) Wilkinson catalyst

(a) Adam’s catalyst
(d) Zeigler-Nauta catalyst

(c) Lindlar catalyst

Maior product P of the followina reaction is -

2 “NCHO > P

() ~~CHO
(a) /\)\CHO
o Y7 @ -

OH

Most stable carbocation is :

A d m.@ﬁ v, \O/d

(b) Il
@ 1 S
(c) @ n

99. Carbon-oxygen-carbon bond angle in methoxymethane is -

(a) 1045°
(b) 1089
€ 9.7 (dy 1

100. The following change can be done by -

o=

(a) Acid catalyzed hydration (b) Hydroboration-oxidation
{c) Oxymercuration-demercuration (d) Alla,band c methods

N
13

e e
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Q.No.

Answer

41

42

43

44

45

46

47

48

49

50

51

52

alal>|>»|w|o|o|O|w|=|=|>

33

>

54

33

56

57

58

59

60

61

62

olo|o|>|m|O>|0]|0

63

- 64

65

66

67

68

69

70

71

72

73

74

75

76

77

78

79

80

wlolalololw|alal>{alol> > |o]=|>|o|=

Q.No. Answer
81 C
82 B
83 A
84 C
85 B
86 C
87 D
88 B
89 A
90 B
91 C
92 D
C
D
B
D
A
D
D
C

93
94
95
96
97
98
99
100

|| MYFOOT.COM
Wuw.n0O TESIM/Y}COUVT'. cOM

COORDINATOR
Dated : 03.05.2019

Scanned with CamScanner



